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All the following questions may be attempted (all questions in one page)

First question (17-mark):

A roof of grain store 10 m long, 6 m wide, and 15 ¢m thick. If the store is
constructed on an ordinary clay soil, the bearing strength of beams and columns

is 180 KN/m” and the specific weight of reinforced concrete is 24 kN/m’.

Second question (12-mark):

Design a stair between two floors in poultry housing, if the gross dimensions

of the stair pit are 4.50 m long, 3.30 m wide, and 3.40 m high. Draw an
elevation and Plan for this design.

Third question (16-mark):

A grower of dairy cattle owns a 43.5 x 56.0 m of land, and wants to

the milking area and draw a plan for this design.

Fourth question (15-mark):
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With our best wishes
Prof. Dr. Yasser M. El-Hadidi
Dr. Ahmed H. Silim




